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1. Aman can row a boat at 10kmph in still water. If the speed of the stream Is 6 kmph,
what is the time taken to row a distance of 80km down the stream?

TS ATGHI 2ria U=t # 10 fH ufa 6 &1 IR A 19 Ia1 Gobdl ¢ | afg URT &t afa
6 Tt ufa deT g, df URT & i 80 foredt ot g8t a1 w=A o fva=m a9a @

(A) 2 hours

(B) 3.5 hours

(C) 5hours

(D) 7.5 hours

(E) None of these
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2 . Find the volume of sphere of radius 14 cm?

14 I 41 a1 M BT T JTd HTE?

(A) 1437_cm®
(B) 1437 cm?
(C) 1424 cm?

(D) 1437 cm?
(E) None of these
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3. Two articles are sold at the same price. One at the profit of 75% and another one
at a loss of 30%. What is the overall profit or loss percentage?

&l 95U JHE Yod UR 9t STl & | Th Bl 75% & ATH TR 3R g Bl 30% D1
aﬁuwwa%?maﬁmw%? &

(A) 20% Profit

(B) 20% loss

(C) 30% Profit

(D) 30% loss

(E) No profit and loss
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4. In how many ways can letter of the word MAILINGS arrange so that M and N
always come together?

MAILINGS TTeg & &Rl Pl fooda YR | gafRyd foar st godr g o m 3

N THRIT TP 1Y HTT?
(A) 5040
(B) 10080
(C) 40320
(D) 20160
(E) None of these
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5. A passenger train covers the distance between station A and B, 50 minutes faster
than a goods train. Find this distance between A and B if the average speed of the
passengera_t'__r[ain Is 60 km/h and that of goods train is 20 km/h?

U W A 3R B & d19 3 g3l T AT TTS! A 50 fBHe a9 9 Hrdl
8| T gt 39 &t 3fted T 60 fopHi/EeT 3iiv HTerTISt $ 3id TIfd 20
fHi/eier 8, df A 3R B & oa @t g3t 1d PifoTe? e

8%

(C) 40

(D) 25

(E) None of these
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6. Two vessels A and B contain spirit and water mixed intheratio5:2and 7 : 6
respectively. Find the ratio in which these mixture be mixed to obtain a new mixture
In vessel C containir%?_girit and water in the ratio 8 : 5?

A TdT AN B H 3R YTt T fAYor HHTT: 5:2 3R 7: 6%?&|gcnafr’%|8:s
%;%qmﬁf@lzaﬁwﬁmﬁaﬂﬁcﬁwwﬁrwmaﬂﬁ e
fargront ot foa srquTa A framar sme? (A5

(B) 5:7

(C)7:9

(D) 9:7

(E) None of these
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7 . A boat goes 18 km an hour in still water, but takes thrice as much time as in going
with the current same distance in against the current. Find the speed of the current

(in km/hr).
U 914 ¥Nid o A 18 fpdt ufad ge & ufa Q gad 8, afe «RT & faudfla gam=
?%wuﬁrﬁﬁ?ﬁﬂwaﬁ%wﬁ%lwaﬁwﬁrmﬁﬁrﬁ : 3|
| (B) 9
(C) 6
(D) 5
(E) None of these
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8 . What is the sum of money at compound interest will give interest Rs. 6238 in 3
years, If the rate of interest is 3% for the first year, 4% for the second year and 5%

for the third year?

fpat 211 Tergfg e W 3 9 # 6238 TUT T 7, Tfe =Tt 1 & uga a9
& fo1E 3%, gae a9 & forg 49 3R d e ¥ & ferw 5% &2

(A) 5000

(B) 10000
(C) 25000
(D) 50000
(E) CND
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| x2+ 11x+ 30 =0 1. y2 - 5y- 50 =0

(@) If x =y or no relation can be estabxlished
(b) Ifx>y
(c)Ifx<y
(d) Ifx>y
OLESY
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. 9x¢ =1 1. 4y? +11y- 3 =0

(@) If x =y or no relation can be estab‘lished
(b) Ifx>y
(c)Ifx<y
(d) Ifx>y
OLESY
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| X2+ 16x+ 64 =0 1. y2 - 15y + 56 =0

(@) If x =y or no relation can be estabxlished
(b) Ifx>y
(c)Ifx<y
(d) Ifx>y
OLESY
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l. 4x°+ 33x+63=0 I1.12y? - 37y + 21 =0

(@) If x =y or no relation can be estabxlished
(b) Ifx>y
(c)Ifx<y
(d) Ifx>y
OLESY
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l. X2+ 12x-45=0 I1.y>-20y + 84 =0

(@) If x =y or no relation can be estabxlished
(b) Ifx>y
(c)Ifx<y
(d) Ifx>y
OLESY
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14 . The shortest distance between two opposite corners of a square field is 26 m.
Find the cost of ploughing the field at the rate of Rs 5 per square meter.

%W@aé?

DI &3 Wd DI FdTg BT W JTd BIoC|

faursta Sl & ot &t gAaw g3 26 Wex g1 5 U ufd ot

(A)1880
(B)1650
(C)1690
(D)1524
(E)None
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15 . A shopkeeper sold 12 cameras at a profit of 20% and 8 cameras at a profit of
10%. If he had sold all the 20 cameras at a profit of 15%, then his profit would have

been reduced by Rs 36. What is the cost price of each camera?

TP GHHGR A 12 FH 20% &b ATH TR 3T 8 HHY 10% & d1Y W 9| Ife T8
Ht 20 FHA B 15% & ATH TR 9 ST, dI SYBT AT 36 YA HH gl STl
TP HHL BT AN &I T 82 (A)100

(B)150

(C)180

(D)220
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16 . The ratio of petrol and kerosene in the container is 3: 2 when 10 litres of the
mixture is taken out and is replaced by the kerosene, the ratio becomes 2: 3. The
%ﬁ%ﬁ%&%@rg g?%?l?resr i§ %Grq' a1 1 10 TR HoTa fear
7T 8 3R fUS! & 99 9 ged faar Sirar 8, af SruTd 2: 3 81 Ja1 g1 A A
firoor Y o °ET B: (A)25
(B)30
(C)45
(D)18
(E)CND
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17 . Ramesh marked up an article 40% above its cost price and while selling the
article he offers 20% discount on marked price. If he earns Rs 1416 as a profit, then

what iIs the discount given by him to the customer?
Tﬁmﬁwa\ﬂaﬁwﬁ?mguﬁm% 3ifere sifdd foma ofiy avg o1 9w

wa%a%%wwm% U HIdl g1 fS 98 ATH B T4 | 1416 3UD
ST 8, °f ISP GRT UTEH B gedismdie?  (A)2306

(B)2628
(C)3304
(D)3426
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25 . Abhinav leaves Mumbai at 6 am and reaches Bangalore at 10 am Praveen leaves
Bangalore at 8 am and reaches Mumbai at 11:30 am. At what time do they cross each
other?

3T a8 6 It gag A waar g 3fiX 10 Io SR Ugd 4T @ Udio a8 8

T dTTER ¥ e oI1dT 8 SR 11:30 99 Ho3 Ugd od1 ¢ | 9 f6a Twg g g
(B)8:32 am
(C)8:56 am
(D)9:20 am
(E)8:25 am
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26 . A bag contains 8 red and 4 green balls. Find the probability that the ball drawn
IS red when one ball is selected at random

TP ST H § AT 31X 4 3 7ic & | OI9 T Tig ] Irefd®d &9 | g1 Sidl g, al

(A)?/3
(B)/3
(C) ;/ 6

Tl 18 Tig & w1l 311 B IR JTd HIforg
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27 . Sita deposited 5,000 at 109 simple interest for 2 years. At C.l. how much more
money will Sita have in her account at the end of two years, if it is compounded semi-

annually.

a1 9 2 99 & 1T 10% TTYRUT TS UR 5,000 STHT {6 T | Tehqfes saTe U AT
& WId H ¢l 9ul & 3id # fha-t 3rftre «==12r g, afe <= srd-arfifes wua

T gl 2. (A)50
(B)40

(C)77.50
(D)85.50
(E)55
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28 . A contractor employed 30 men to complete the project in 100 days. But later on
he realized that just after 25 days only 20% of the work had been completed. To
lete the work on the scheduled time how many men he has to increase?

com
= RIS BT 100 3T A 9RT B & forw 30 B g foa|
%%——ramﬁafeﬁ?r m%zsgﬁ'%m%ﬂ%ﬁ 3T AT
Frufa s w el wmﬁ%maﬁmﬁwmﬁg%ﬂ?
(B)40
(C)30
(D)20
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